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DA + 3B (1) =7 LA By (o)

* Given that we have 25.0 g of liquid bromine, how many grams of aluminum would we need
to react away all of the bromine?

@ Convert grams of bromine to moles: Need formula weight R 0 ~ 1 X779 96

19,404 By = wéo\ ol 159. %0
mol by — 0.|S64S mol Br
15,0986, A 159,90 g By )

@ Use the chemical equation to relate moles of bromine to moles of aluminum

D ol AVS Smol By
D ol A\
3 mol \?)\r,)_

@ Convert moles aluminum to mass: Need formula weight A} 22 6 .79

9% A
0 106420 md Al x, 22 \/(&f\i | =[1.8lg

0.1S64S mal By X =~ 0O.lo430 md Al
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You can combine all three steps on one line if you like!

@‘gq'%038r7_3 o) 6rl @ ) o {5\\:3"\'0\ %‘F’L @1%:9%3{5(\: ol !3«\

AR Dmod AV L6, 9%6 A \
25,0 B, X - 27 |\ o Al

X K
\99(603 BB_ 3 mol %‘F’L o) A\

® © ®

Things we can do:

If we have ... ... and we need ... Use ...
MASS MOLES FORMULA WEIGHT

SOLUTION MOLES MOLAR

VOLUME CONCETRATION
(MOLARITY)

MOLES OF A MOLES OF B BALANCED
CHEMICAL
EQUATION
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Example:

How many milliliters of 6.00M hydrochloric acid (FW=36.46 g/mol) is needed to
completely react with 25.0 g of sodium carbonate (FW=105.99 g/mol)?

2HQ Lag )+ Naglog (s) — Ha0(0) v Loy g)w LN (aq)

1 - Convert 25.0 g sodium carbonate to moles. Use FORMULA WEIGHT. .
2 - Convert moles sodium carbonate to moles HCI. Use CHEMICAL EQUATION
3 - Convert moles HCI to volume solution. Use MOLARITY.

(D 108 6/93 NO\,LC():B“:,MH No-.LCOS

28,04 Ne, O = 0.23587130%6 mol May (0y

g Tk
IOS,"/‘}/3 Nn L0y

(D) Lot HLL = mol N a (04

0.23587130%6 mol May C0q g Lyl O = 037U 617 7 mod HCI




" Example:
How many milliliters of 6.00M hydrochloric acid (FW=36.46 g/mol) is needed to

completely react with 25.0 g of sodium carbonate (FW=105.99 g/mol)?
2 HQO Lag )+ NagLog (s) = Ha0(0) t (o gl LN (aq)

1 - Convert 25.0 g sodium carbonate to moles. Use FORMULA WEIGHT. .
2 - Convert moles sodium carbonate to moles HCI. Use CHEMICAL EQUATION
3 - Convert moles HCI to volume solution. Use MOLARITY.

(D £.60 msl el =

Since the problem wants answers in mL, we'll need to do a quick unit conversion:

mlz 0720

- |
0.0786 Ly ———2[1%.bwl of 6,06 WL |
10 L
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”‘\’L,()cgglvw)\ 3,069 9lmu\
P, = Lo — H (N «6HL0 « Ny,

propylene acrylonitrile
Calculate how many grams of acrylonitrile could be obtained from 651 g of propylene, assuming
there is excess NO present.

1 - Convert 651 g propylene to moles. Use FORMULA WEIGHT.
2 - Convert moles propylene to moles acrylonitrile. Use CHEMICAL EQUATION
3 - Convert moles acrylonitrile to mass. Use FORMULA WEIGHT

@ bl’L.O‘[ﬂﬂ (_%Hé: my) (SHG

(%) Umol (M, = Honsl CyHigts

(2) §3.0644 CaHyV > mo| (GHyM
® @ ®

Q HL]Q th|(_ Hé l:"|;'J'w| CgHﬂ/ 5306[1 (SH f\}

1

Siﬁ
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|S\.°/O’9/mu\
10 FeSoy + 2 kmno, + S50y —>5Fe, (S0, ), L Mndoy~ kS0,
+ %HL'D

How many mL of 0.250M potassium permangenate are needed to react with 3.36 g of iron(ll) sulfate?

1 - Convert 3.36 g iron(ll) sulfate to moles. Use FORMULA WEIGHT.
2 - Convert moles iron(ll) sulfate to moles potassium permangenate. Use CHEMICAL EQUATION
3 - Convert moles potassium permangenate to volume of solution. Use MOLARITY.

D 151904 teSou= mal keSo,
@ | O mol f‘@SOLt = L mo| l(mnf)c(

@ O.LSD my) I«mno,,l = L.

® @ ®
mol FQSOq . Limo| KN RO, ; L . o.0070
1§1.90,teS04 10ma FeSoy 0A50mal Kinnd,

Convert the final answer to mL as directed in the problem statement.
™ .= 1D~ 5 L

m L —,[H Tl of 0.250M KMno
O.,0127L ¥ TSI “

?).%(DﬂFE’SOLt"F




